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I, A#tB 43 100 5 » L4878 4e -
EEFR 2 ENEEBLIRAAEL EREFEEE (S08)-
3. ERFREELARE 4T -

. TR —RAREAEANET RS RE RSN BARE R S
(A) Integrated Drive Electronics(IDE)
(B) Universal Serial Bus(USB)
(C) Video Graphics Array(VGA)
(D) High Definition Multimedia Interface(HDMI)

2. BINMBBAZE > fTH B BHEREELAN) ?
(A) IEEE802.16 (B) IEEE802.15 (C) IEEE802.11 (D) IEEE802.3

3. THHR—FEAMRERAESARAFES IP mabddis R a8 [PArar ?
(A) DNS Server (B) Web Server (C) DHCP Server (D) NAT Server

4, 577 %4 TB(Terabyte )# % # MB(Kilobyte ) #y%4% ?
(A) 2m (B) 2% (C) 2% (D) 2@

5. HEIE B WEu 7| L AT FII—18 [P frak - TR AK# 69 Web Server £ FE 44

E¥?
(A) 8.8.8.8 (B) 107.0.0.1 (C) 117.0.0.1 (D) 127.0.0.1

6. FoTH~ Linux £ 4480 " 424%38 % | WK ?
(A) administrator (B) admin (C) root (D) who

T. FiMa4&48883%H5 » & OSI @ F8y Layer 3 3%4 ?
(A& % % (Hub) (B)#% & % (Router) (C)#%54#: % (Bridge) (D) % 4 % (Repeater)

8. TaTHFRAZEE RS Web Server ? (A)Apache (B)MySQL (C)Nginx (D)IIS o

9. B—E@EBFEA —EE— £ 635 > A& Physical Address # MAC Address -
A %A Bytes: TCP/IP» IPv4 st E AR Byteseo
(A) 6,4 (B) 4,6 (C) 4,4 (D) 6,6
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1. ARK#FHBAEH 1004 > B4F G -
EETIE L BALSEELRFES BREFAER (408E)-
3. REBBEEERBRA 4T -
10. IPv4 futkE A ; IPv6 A bt R E 2 ®
(A) 4 bytes, 128 bytes (B) 4 bytes, 6 bytes
(C) 32 bytes, 128 bytes (D) 4 bytes, 16 bytes

11, @weEsfae (IP) R4EBLH (DN)» —18 IP Rae &2 —@ DN? YESor NO :
—48 DN R éc ¢t/ 2 —18 IP? YES or NO -
(A) YES,NO (B) NO,YES (C) YES,YES (D) NO,NO

12. #H@mesEAfrak B 192,168, 101. 0/25 - 43838 F BT 7
(A) 255.255.255.128 (B) 255. 255. 255. 240
(C) 255. 255, 255. 224 (D) 255. 255. 255. 0

13. 48 (Open System Interconnection, 0SI) /& 448 F LayerT #= Layerl 45| % :
(A) Application Layer @ Physical Layer
(B) Presentation Layer * Data Link Layer
(C) Session Layer ° Transport Layer
(D) Physical Layer > Network Layer

14, $4TF 7 E#E%E > H&F 542 1000 And 1000 Or 1000 Xor 1010 Xor 1010
(A 0 (B) 1 (C) 1000 (D) 1010

15. IP % 172.31.110.96 » F#9:8 % % 255. 255. 255. 128 K fr ¥4k R4 7
(A) 172.31.110.32  (B) 172.31.110. 63
(Ch 172.81. 110,265 (D) 172. 41, 140,327

16. 1P 4rsk% 192.168.1.0/28 > Bl EEEG&E A £V TH IP ?
(A) 14 (B) 16 (C) 254 (D) 256

17. €40 IP 4ruk(IP Address) 140.131.114. X #2 140.131. 115. X & B —{8-F 48 -
H@es i E (net mask) AT 7
(A) 2585, 255.255, 128 (B) 172.16.255.255

(C) 255.255.254.0 (D) 255.255.255.0 BEHRHE
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1. AHBAH 1005 B8R E -
EEFR 2 FNERELMAES BREAAER ()
3. FRAKRLEFREBHEMA—HHE -

18. #ATTFFIEZA A& @B&ERAM? (A) 100 (B) 101 (C) 102 (D) 133

Dim Sum, i, j As Integer
Sum = 0
i=0
While 1 <= 6

For j=1To i +2

Sum = Sum + i

Next ]

1=1+41
End While

Console.WriteLine(Sum)

19. The following code F'(n). Which of the following statement is true?
long F(long n) {
IF (n=0) OR (n = 1) Return n;
ELSE Return Fi(n— 1)+ F(n—2) }
(A) F(6)=6 (B) F(6) =8
(C) F(6) =20 (D) None of the above.

20. The following code F'(n). Which of the following statement is true?
long F'(long n) {
IF (n=1) OR (n=2) OR (n=23) Return u;
ELSE Return F(n— 1)+ F(n—2) - F(n—3) }
(A) F(6) =6 (B) F(6) =38
(C) F(6) =20 (D) None of the above.
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1. A# 84100 4 » L4t K f5)4a -
FEFEE 2 HNEEELKRFEL > BEREFEAR (4A) -
3, RIEHBAEEARFA 4 -

21. F#%|% Python 3 &9 X4 > HRZRANBEZTITE?
datatist = [3, 1, 5, 2, 4]

n = len(dataList)
for i in range(?, n-1):
for j in range(@, n-1-1i):
if dataList[j] < dataList[j+1]:
datalist[j], datalList[j+1] = dataList[j+1], datatist[]j]
print{dataList)
(A)[5,4,3,2,1] B) B,:1,5,:2:4] (C) <class Tist'™> () [.2:3.4, 31

22. T %% Python 3 9 X ZEXA ¢l — a8 F FRIABFTHRELHE ?
s s
n =1
print{m, end="")
for _ in range(l10):
m, n = n, mn
print("”, {}".format{m), end="")

(A) % £3% (Arithmetic progression) (B)# X #t#%] (Fibonacci sequence)
(C) #WAvsk# (Harmonic series) (D)f 4 p# (Catalan number)

23. ATATHEARAZFALAZTHHEML?
(A) BRIUTEHEZ EHHEEF
(B) #RAIATHE ZMFR
C) —fmE > A EEBET  EXPITHRLEWHFAGEZ2F
(D) MLk

24, T @\ EhiEey EEEIBR A

(M#IT>HE>8E B HE>HTOEE
(O s> a>#47 (D)RESHFOHAT

BEYEHE



B2 b ¥ RS 108 245 Er RATFA LA WAL A
w0000 (s xamms)

=2 ehy ch A 4 B e

FEL-HE F 45

1. A#84% 100 4 » E& K454 -
AEFIE 2. HWEEEALKREEL BREFEHE (H048)-
3. FRHEHELELERBA—HHE -

25, #N Bey—iw, RGpRB8msH @7
(A) 2N (B) N (C) 2N-1 (D) 21

26, LB EMNEHRAENR—BRELYORER BT THEH 7
(A) ERFEHPRBEA—EETH (B) #3HA EH FMe—EEH
(C) B#FmPIE—TEHEH (D) MA L RIBH R L Ko7

27, THE&EEEREATAF » MEREN X B S &KX F(recursive function

call) ?
(A) & #3 & (system stack)  (B)##k(heap)
(C) ¥ 17 % (register) (D) &4 & £ (data segment)

28. Sk (stack) % F 54T ?
(A) i theg e 7 (FIFO list)
(B) # i#4% 449 % 7] (LILO list)
(C) # it %8y % 5| (LIFO list)
(D) R E 89 % 7| (random list)

29. HFITRBNA—FEETHEH?

1

(A) =¥ F#t (binary search tree)
/ \\ (B) & Z#t(red-black tree)

. 5 (C) R A#AM (max heap)

: - (D) & /Is#4f(min heap)
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1. A#B 43 100 4 ¢ B8R B G0 -
FEFEE2 HANERELRAES BBRFEEAR (SDE)-
3. REBEELERBRA— e -

30. BREITHALEN, FHELESHERALEART P& ?
(Mg B34k OmnikdE DU ERT

31. T HERAHATTRESE T Bk (sorting algorithm)&yi@sz ?
ke dkRE 112, 8, 2, 5, 10, 7, 1, 3
¥—#54 08, 12, 2, 5, 7, 10, 1, 3
#8112, 5, 8 12, 1, 3, 7, 10
=1, 2 8 5 7, 8 10, 12
(A) #8454 (bubble sort (B) 4-4#¥#E5 % (merge sort)
(C) Wik #EA % (quick sort) (D) E42Hk Ak (selection sort)

32. A EgeXnt T o UWTFTEE R B3 % (encapsulation) a9 & 7
(A) 3 % FHA & (abstract data type) (B) &K (function)
(C) i@ (recursion) (D) ¥ % B {7%|(stack and queue)

33. F %4 B AES (Advanced Encryption Standard) &4k ifify %443 ?
(A) AES #A#H#BAE
(B) AES #hhomE B AL IFNHE
(C) #)A =% (confusion) 4 (diffusion) sy &3 hosk A28 3 A & o 05 R 44
(D) 4r4& M )% (substitution)t & & (transposition) i #& 4o % F AR L4

4. TFHTER AT KE B FRM 4B
(DB @#E2FE OKLEHRE D) EHEY

3. —BETEHEHAIREGBRFIER R AMMKE - BATF 4 CD AR 98
HoaEE 44.1 K #s(Hz) » @B a# s 16 u(bits) o 35 4o R M MR
M—BEE D M BH D RHNERERIABINNBERNIORBE D ?

(A) 220,500 Bytes (B) 441,000 Bytes (C) 1, 764, 000 Bytes (D) 3,528, 000 Bytes
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36.

37.

38.

39.

40.

10 57

1. A#F 843 100 4> B4R 4E30 -
EEEIE 2 ENEEALERAELS BEEFEERE (408

3. FREREZLARBRE 4 -

BB TRARBRE N8 KEREBMES TRA—FA£F TRES -
P 46 2 BB P A — 48 S A 2
(A) RFID (B) GPS () WiMAX (D) WiFi

T F BB P R (tree) 6 4t & £ 2k 7
(A)i# (edge) 4918 2L 57 85 Bk (vertex) a9 18 3%
(B) 1% 6918 $1 5 7 6 25 6948 3 o —
(C) 1% 6918 3L 5 7 85 2k 6918 LR —
(D) ¥ B E 7 & Be B 38y T F

THALKGRAFPITREAFTHETHS W EHAEASATHER  BARA
(Process) » — AR FHATHBRZ TR b KL > 23 AHEWNew) ~ 34k
(Ready) ~ #1447 (Running) ~ £ (Waiting) » £ % (Terminated) - LA F BF — 4@ 4k BE R
=T fE £ #0447 (Running ) Ak A& 69 F — B AK A8 9
(A) ##Waiting) (B) #& % (Terminated)

(C) #zE(New) (D) #:.4(Ready)

T ZIRAF B Ko by Sl 4T 4535 7
(AT R»E L4 (B)=T A8 AT RS
(O Bk B RS 7 #6915 3% (D) T B L BN

%&“F@l;fcﬁiﬁ’ﬂé:ﬁrt%ﬁ (Postorder Traversal) B > £3589k P BT Q

,/f ‘\\ (A) 50, 30, 56, 10, 52, 81, 72, 98
30 (B) 10, 30, 52, 72, 98, 81, 56, 50

/ / \\ (C) 50, 30, 10, 56, 52, 81, 72, 98

(D) 10, 30, 50, 52, 56, 72, 81, 98

72 98






